Partitioning 3-Digit Numbers in Different Ways

We have been looking at partitioning numbers. [image: ]  [image: ][image: ]    [image: ]
However, we can also partition numbers different ways.

We can partition numbers correctly into their hundreds, tens and ones.
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Complete the sentence and find three ways of partitioning each 3-digit number.

1) 437 has hundreds, tens and ones.

437 = 437 = 437 =
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2) 628 has hundreds, tens and ones.

628 = 628 = 628 =
3) 563 has hundreds, tens and

563 = 563 = 563 =
4) 849 has hundreds, tens and

849 = 849 = 849 =





image7.tmp
5) 792 has hundreds, tens and ones.
792= 792= 792=
6) 541has
541 = 541 = 541 =

7) Can you spot the mistake? What should Sol have done differently?

The part-whole
models show

two ways of
partitioning 236.
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352 =200 + 140 + 12
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352 =200+ 150 + 2
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352 =200 + 140 + 12





